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Find the value of 103 x 197 by Sutra Ekudhiken Poorvena.
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Using the Suira Paravartya Yojayet solve the equation 3y + 4 = 5y - 4.
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Show whether the decimal expansion of mtional number T2 are terminating or
-
non-terminating. )
cosl9° - , cos|9°
4. 1 4R 74 FIfE0) Find the value of =53
sin7] ° sin7!
5. 2cos 45° sin 45" T HE A4 oarE Find the value of 2 cos 45° sin 45°

6. & fagsii 4 qOM 70 W T A fa= 1 fagd feran |
Wiite the locus of a point equidistant from wo given poinis.
7. W F W 4 0 AR HF 50 F Wi e aif
In throwing a dice, find the probability of petting a number more than 4.

8. g w1 Wi fhae €11 €2 What is the probability of impossible event?
9. PUC ®7 &7 What is PUC?
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HEE W S i | Iwim fafau) Write the use of zebra crossing.
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Using Vedic method, find the square root of 4225.

|
Prove that ﬁ is & irrational number,

PR AT ke - 5y + k=0 kT 9% 4 7 Fian fowd g s g ansfen
FTTER RN o

!
Find the value of k for which quadratic equation kx2 - 5x + k = 0 have real and equal
TOOLS.
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Find the sum of all odd numbers divisible by 3 between | and 1000,

. 3 sin 38 =cos (B~ 6°), T 30 3R (8 - 6°) TFFM & 0 T WE A FAEC

I sin 38 = cos (8 - 6°) where 30 and (0 - 6°) are acule angles, then ﬁnd- the value
of 6.
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A Tower is vertically placed on a horizontal plane. If angle of elevation of sun is
30% and length of shadow of Tower is 45m then find height of Tower.

A ABC 1 Wifwr#m AD, BE 3 CF fag G B 7ot €1 af2 GF = 4em @1 @1 GC &1 U
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In triangle ABC the medians AD. BE and CF passes through the point G. If
GF = 4cm then find GC,
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The length of the minute hand of a clock is 10.5 cm. Find the arca of the sector swept
by the minute hamd in 1) minutes.
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The sum of length, bredih and height of cuboid is 19cm and length of its diagonal

i ‘m. Find the total surface arca ol cuboid.
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A bag contains 5 red and 3 white balls. Qut of this bag one ball is randomly drawn.
What is the prabability that balls (i) is while (ii) in not white.
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- T TP ABCD % i 71 W 59 WAR frud & £ AB = CD) @, @ frg 336 f

AC =BD. ¢

Vertices of a quadrilateral ABCD are situated on a circle in such a way that
AB = CD. then prove that AC = BD.
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A circle touches the all sides of a quadrilateral. Prove that

at centre, internal angles
made by opposite sides are supplementry.
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Draw a circle of radius 3cm. Construct a pair of tangents from an exterior point
P. 5 cm away from it's centre O. hitps://www.rajasthanboard.com
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In given figure a circle with centre O, ZAOB = 907, ynd \/ N/
OA = 3 cm then find the area of shaded region, AN /B
N~
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The radius and height of a conical vessel are 10 cm and 18 cm respectively, which
is filled with wuter to the brim, It is poured in a evlindrical vessel of radii S em. Find
the height of water level in cylindrical vessel.
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Solve the following pairs of linear equations graphically :

+y=6, 2x-y=2
2x+y=6 SKG-15- (X)nforn =310
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27. fag FfSU : Prove that : sin@ (1 +1an 0)+ cos 0 (1 +col B)= cosec 0 +secO

28.

ar (OR)
(sin A + conee AY +(cos A +scc A) =7 v an A + col’ A
R Fifs 5 T3 s+ y =0, fA=301 (1, 3) 9w (2, 7) T faem a@ @ 9 faw
s 4 fanform #dl &1

Find the ratio in which line 3x + y =9 divides the line segmem which joins points

o, 3y and (2. 7).
e #1311 21 o3l F1 79F aa # fawfsm Fwd # ) fag Fifam)
If a line is drawn parallel 1o one side of a triangle intersecting the other two sides.

then it dividies the two sides in the same ratio.
AT (OR)

=it Aag @ ABCFI @ BC R vE fag D3nwsr fem e fs BD = %BC tifag
witag & 9 AD? = 7AB°

I
If D is a point on the side BC of a equilateral A ABC such that BD = 3 BC then prove

that 9 AD? = 7AR™
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Find the mean of given trequency distnbution.

=7 T (Claws — interval) | 0— 10 [ 10-20[20-30] 30-40 [ 30 - 50
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